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1. Find i(t) for the circuit shown in I'ig. 1 with v(0)=1. (15%)
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2. For the circuit shown in Fig. 2: |
(2) Find the voltage transfer function V2/V1, where V1 and 72 are phasors.

(b) (I;?:/{(?):?) cos;flr, find the sinusoidal steady-.-.state exoression for vo(f). (10%) . '
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3. The circuit shown in F ig. 3 is in the steady state with switch S closed. The switch S

is opened at /=0. Find the currents i1;(¥) and i12(f) and the voltage v(¢) for £ 20(15%)
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4. Write a PSpice input file to analyze the active-RC circuit shown in Fig. 4, where u(¥)

1s a unit-step function and v¢i(0)=ve(0)=1. The analysis time is 10 seconds. (15%)
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5. Find the_ value of the average current in the baﬁery charge circuit shown in Fig. 5.

Assume that R=0.25 ohm and vs(H)=20 sin 3771t (20%)
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6. Determine H(s) = Tgf('S)/ V(s) for the op amp circuit shown in Fig. 6 and determine
if the_circuit is stalble. Assume ideal op amps and the input signal is v(¢). (15%)
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